

$$\left\{\begin{array}{l} \text{null-hlg } \mathfrak{l} \in \mathbb{T}_{\mathfrak{I}+} \triangleleft \mathfrak{h} \\ \gamma \in \mathfrak{h} \triangleleft_{\varpi} \mathbb{C} \end{array}\right. \Rightarrow \bigwedge_{z \in \mathfrak{h} \perp \mathfrak{l}^=} {}^z \gamma \, {}^z \mathfrak{l}_{\#} = \int\limits_{dw/2\pi i}^{\mathfrak{l}} \frac{w \gamma}{w-z}$$

$$z:w \in \mathfrak{h} \times \mathfrak{l}^= \xrightarrow{G} \mathbb{C} \ni {}^z G_w = \begin{cases} \frac{{}^w \gamma - {}^z \gamma}{w-z} & w \neq z \\ {}^z \gamma_{\underline{-}} & w = z \end{cases} \Rightarrow \bigwedge_z^{\mathfrak{h}} G_w \in \mathfrak{l}^= \triangleleft_{\varnothing} \mathbb{C} \Rightarrow {}^z G_{\mathfrak{l}} = \int\limits_{dw}^{\mathfrak{l}} {}^z G_w$$

$$\mathfrak{h} \times \mathfrak{l}^= \xrightarrow[\text{stet}]{G} \mathbb{C} \Rightarrow G_{\mathfrak{l}} \in \mathfrak{h} \triangleleft_{\varnothing} \mathbb{C}$$

$$\mathfrak{h} \times \mathfrak{l}^= \supset \frac{z:w \in \mathfrak{h} \times \mathfrak{l}^=}{z \neq w} \xrightarrow[\text{stet}]{G} \mathbb{C}$$

$$a=b \in \mathfrak{l}^= \Rightarrow \bigvee_{a \in \mathfrak{k} \subset \mathfrak{h}}^{\text{conv}} \bigwedge_{z:w}^{\mathfrak{k}} {}^w \gamma - {}^z \gamma = \underline{w-z} \int\limits_{dt}^{0|1} {}^{z+t\underline{w-z}} \gamma_{\underline{-}} \Rightarrow {}^z G_w \overset{\text{auch}}{z=\underline{w}} \int\limits_{dt}^{0|1} {}^{z+t\underline{w-z}} \gamma_{\underline{-}} \Rightarrow \mathfrak{k} \times \mathfrak{k} \xrightarrow[\text{stet}]{G} \mathbb{C}$$

$$\bigwedge_w^{\mathfrak{l}^=} G_w \in \mathfrak{h} \triangleleft_{\varnothing} \mathbb{C} \cap \mathfrak{h} \perp w \triangleleft_{\varpi} \mathbb{C} = \mathfrak{h} \triangleleft_{\varpi} \mathbb{C} \Rightarrow {}^z \underline{G}_w = \begin{cases} \frac{{}^w \gamma - {}^z \gamma - (w-z) {}^z \gamma_{\underline{-}}}{(w-z)^2} & z \neq w \\ {}^z \gamma_{\underline{-}}/2 & z = w \end{cases}$$

$$\mathfrak{h}\times \mathfrak{l}^{\,=}\xrightarrow[\text{stet}]{\underline{G}}\mathbb{C}\Rightarrow G_{\mathfrak{l}}\in \mathfrak{h}\bigtriangleup_{\omega}\mathbb{C}$$

$$\mathfrak{h}\times \mathfrak{l}^{\,=}\supset \frac{z:w\in \mathfrak{h}\times \mathfrak{l}^{\,=}}{z\neq w}\xrightarrow[\text{stet}]{\underline{G}}\mathbb{C}$$

$$a=b\in \mathfrak{l}^{\,=}\Rightarrow \bigvee_{a\in \mathfrak{k}\subset \mathfrak{h}}^{\text{conv}}\bigwedge_{z:w}^{\mathfrak{k}}{}^w\mathfrak{r}-{}^z\mathfrak{r}-(w-z)~{}^z\mathfrak{r}=(w-z)^2\int\limits_{dt}^{0|1}(1-t)^{z+t\overline{w-z}}\mathfrak{r}$$

$$\Rightarrow {}^zG_w=\int\limits_{dt}^{0|1}(1-t)^{z+t\overline{w-z}}\mathfrak{r}\overset{\text{auch }z=w}{\Rightarrow} \mathfrak{k}\times \mathfrak{k}\xrightarrow[\text{stet}]{\underline{G}}\mathbb{C}$$

$$\bigwedge_z^{\mathfrak{h}\mathfrak{l}^{\,=}}{}^zG_{\mathfrak{l}}\overset{*}{=}\int\limits_{dw}^{\mathfrak{l}}\frac{{}^w\mathfrak{r}}{w-z}-2\pi i {}^z\mathfrak{r}~{}^z\mathfrak{l}\Rightarrow \bigwedge_z^{\mathfrak{h}\mathfrak{l}^{\,\leqslant}}{}^zG_{\mathfrak{l}}=\int\limits_{dw}^{\mathfrak{l}}\frac{{}^w\mathfrak{r}}{w-z}$$

$$\bigwedge_w^{\mathfrak{l}^{\,=}}w\neq z\Rightarrow \text{LHS}=\int\limits_{dw}^{\mathfrak{l}}\frac{{}^w\mathfrak{r}-{}^z\mathfrak{r}}{w-z}=\int\limits_{dw}^{\mathfrak{l}}\frac{{}^w\mathfrak{r}}{w-z}-{}^z\mathfrak{r}\int\limits_{dw}^{\mathfrak{l}}\frac{1}{w-z}=\text{RHS}$$

$$\mathfrak{l}^{\,\leqslant}\subset \mathfrak{h}\Rightarrow \mathbb{C}=\mathfrak{h}\cup \underline{\mathbb{C}\mathfrak{l}\mathfrak{l}^{\,\leqslant}}\Rightarrow \bigvee 1\in \mathbb{C}\bigtriangleup_{\omega}\mathbb{C}:\quad {}^z1=\begin{cases} {}^zG_{\mathfrak{l}} & z\in \mathfrak{h} \\ \int\limits_{dw}^{\mathfrak{l}}\frac{{}^w\mathfrak{r}}{w-z} & z\in \mathbb{C}\mathfrak{l}\mathfrak{l}^{\,\leqslant} \end{cases}$$

$$1=0\Rightarrow G_{\mathfrak{l}}=\mathfrak{h}\overline{1}=0\overset{*}{\Rightarrow}\bigwedge_z\int\limits_{dw}^{\mathfrak{l}}\frac{w\gamma}{w-z}=2\pi i\,{}^z\gamma\,{}^z\mathfrak{l}$$

$$\bigwedge_R^{>0}\mathfrak{l}^{\leqslant}+\widetilde{\mathfrak{C}}_R\text{ cpt}\Rightarrow\mathfrak{l}^{\leqslant}+\widetilde{\mathfrak{C}}_R\overset{\bullet}{1}<\infty$$

$$z\in\mathbb{C}\mathfrak{L}\,\overline{\mathfrak{l}^{\leqslant}+\widetilde{\mathfrak{C}}_R}\subset\mathbb{C}\mathfrak{L}\,\mathfrak{l}^{\leqslant}\Rightarrow\bigwedge_{w\in\mathfrak{l}^=}\overline{w-z}\geqslant\overline{\mathfrak{l}^=\,{}_{\bullet}\,}z\geqslant\overline{\mathfrak{l}^{\leqslant}\,{}_{\bullet}\,}z>R$$

$$\Rightarrow\overline{{}^z1}=\overline{\int\limits_{dw}^{\mathfrak{l}}\frac{w\gamma}{w-z}}\leqslant|\mathfrak{l}|\,\overline{\int\limits_{dw}^{\mathfrak{l}^=\,{}_{\bullet}\,}\frac{w\gamma}{w-z}}\leqslant\frac{|\mathfrak{l}|\,\mathfrak{l}^=\,{}_{\bullet}\,1}{R}\Rightarrow\overline{\mathbb{C}\mathfrak{L}\,\mathfrak{l}^{\leqslant}+\widetilde{\mathfrak{C}}_R}\overset{\bullet}{1}\leqslant\frac{|\mathfrak{l}|\,\mathfrak{l}^=\,{}_{\bullet}\,1}{R}<\infty$$

$$\Rightarrow 1\in\mathbb{C}\bigtriangleup_{\omega}^{\infty}\mathbb{C}\overset{\text{Liou}}{\Rightarrow}1\in\mathbb{C}\text{ const}\,\overline{1}\leqslant\frac{|\mathfrak{l}|\,\mathfrak{l}^=\,{}_{\bullet}\,1}{R}\overset{R\curvearrowright_{\infty}}{\Rightarrow}1=0$$

$$\mathfrak{l}\text{ null-hlg}\Rightarrow\bigwedge_{z\in\mathfrak{h}\mathfrak{L}\,\mathfrak{l}^=}\frac{1}{n!}\,{}^z\partial^n\,{}^z\gamma\,{}^z\mathfrak{l}=\int\limits_{dw/2\pi i}^{\mathfrak{l}}\frac{w\gamma}{\underbrace{w-z}^{n+1}}$$

$$0\leqslant n\curvearrowright n+1:\quad \underbrace{\mathbb{C}\mathfrak{L}\mathfrak{l}^=}\times\mathfrak{l}^=\overset{?}{\underset{\text{stet}}{\longrightarrow}}\,{}^zK_w=\frac{{}^w\gamma-{}^z\gamma}{\underbrace{w-z}^{n+1}}$$

$$\bigwedge_{w\in\mathfrak{l}^=}\,{}^zK_w\in$$

$$\underbrace{\mathbb{C}\mathfrak{L}\mathfrak{l}^=}\times\mathfrak{l}^=\overset{?}{\underset{\text{stet}}{\longrightarrow}}\,{}_z\partial\,{}^zK_w=(n+1)\frac{{}^w\gamma-{}^z\gamma}{\underbrace{w-z}^{n+2}}\Rightarrow{}_z\partial\,{}^z\gamma\,{}^z\mathfrak{l}\text{ hol }\mathbb{C}\mathfrak{L}\,\mathfrak{l}^=\wedge$$

$$n!\int\limits_{dw/2\pi i}^{\mathfrak{l}}\frac{(n+1){}^w\gamma}{\underbrace{w-z}^{n+2}}={}_z\partial\left({}_z\partial^z\gamma\,{}^z\mathfrak{l}\right)={}_z\overset{+1}{\partial}\,{}^z\gamma\,{}^z\mathfrak{l}+{}_z\partial\,{}^z\gamma\,{}_z\partial\,{}^z\mathfrak{l}={}_z\overset{+1}{\partial}\,{}^z\gamma\,{}^z\mathfrak{l}\text{ null on }\mathbb{C}\mathfrak{L}\,\mathfrak{h}$$